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Cluster: 0087 ptr; resid: 0.27; r/c: 28/67

x.range

upstream meme PSSM #1; e=2.5e+04
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upstream meme PSSM #2; e=3.1e+04
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43894−0.06
35984−0.06
45174−0.14
43238−0.17
44225−0.23
46667−0.39
32014−0.51
32314−0.55
46430−0.59
42616−0.70
15917−1.11
43088−1.19
48656−1.53
48797−1.68
36021−1.91
36196−2.33
44924−2.51
36356−2.85
44480−3.07
15063−3.58
37547−3.62
46478−3.68

9115−3.77
45175−5.16

1358−5.53
44370−7.85
44747−8.15
10677−12.72

log10(P) upstream meme1 2 log10(P.clust)=−2.70; 28 seqs; 28 uniq
c(0.5, 2.5)
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